

Basic trigonometric identities:

Cosine Law:

$\tan \theta = \frac{\sin \theta}{\cos \theta}$	$\sin^2 \theta + \cos^2 \theta = 1$	$\csc \theta = \frac{1}{\sin \theta}$	$\sec \theta = \frac{1}{\cos \theta}$	$\cot \theta = \frac{1}{\tan \theta}$
---	-------------------------------------	---------------------------------------	---------------------------------------	---------------------------------------

$$c^2 = a^2 + b^2 - 2ab \cos C$$

Sequences, series, and annuities:

$t_n = a + (n-1)d$	$t_n = a(r^{n-1})$	$S_n = \left[\frac{n}{2} \right] (a + t_n)$	$S_n = \frac{a(r^n - 1)}{(r - 1)}$	$A = \frac{R[(1+i)^n - 1]}{i}$
--------------------	--------------------	--	------------------------------------	--------------------------------

Basic trigonometric identities:

Cosine Law:

$\tan \theta = \frac{\sin \theta}{\cos \theta}$	$\sin^2 \theta + \cos^2 \theta = 1$	$\csc \theta = \frac{1}{\sin \theta}$	$\sec \theta = \frac{1}{\cos \theta}$	$\cot \theta = \frac{1}{\tan \theta}$
---	-------------------------------------	---------------------------------------	---------------------------------------	---------------------------------------

$$c^2 = a^2 + b^2 - 2ab \cos C$$

Sequences, series, and annuities:

$t_n = a + (n-1)d$	$t_n = a(r^{n-1})$	$S_n = \left[\frac{n}{2} \right] (a + t_n)$	$S_n = \frac{a(r^n - 1)}{(r - 1)}$	$A = \frac{R[(1+i)^n - 1]}{i}$
--------------------	--------------------	--	------------------------------------	--------------------------------

Basic trigonometric identities:

Cosine Law:

$\tan \theta = \frac{\sin \theta}{\cos \theta}$	$\sin^2 \theta + \cos^2 \theta = 1$	$\csc \theta = \frac{1}{\sin \theta}$	$\sec \theta = \frac{1}{\cos \theta}$	$\cot \theta = \frac{1}{\tan \theta}$
---	-------------------------------------	---------------------------------------	---------------------------------------	---------------------------------------

$$c^2 = a^2 + b^2 - 2ab \cos C$$

Sequences, series, and annuities:

$t_n = a + (n-1)d$	$t_n = a(r^{n-1})$	$S_n = \left[\frac{n}{2} \right] (a + t_n)$	$S_n = \frac{a(r^n - 1)}{(r - 1)}$	$A = \frac{R[(1+i)^n - 1]}{i}$
--------------------	--------------------	--	------------------------------------	--------------------------------